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Farmer Joe harvested 18 carrats, He gave away 9

carrots to his neighbor. How many carrots are left to //‘/

him?

A- WHAT 1S ASKFD?

G-WHAT ARE GIVEN?

- OPERATION TO BE USED ///
NS- NUMBER SENTENCE -

A- ANSWER

Farmer John harvested 15 tomatoes. He gave away 7
tomatoes to his friends. Sow many tomatoes are left 1o
him?

A- WHAT IS ASKEDZ
G-WHAT ARE GIVEND
O- OPERATION TO BE USED
NS- NUMBER SENTENCE

A- ANSWER

The monkey had 9 baranas. He ate 5 of it. How many
bananas are left in 2ll2

A- WHAT IS ASKEDZ
G-WHAT ARE GAEND
O- OPERATION TO BE USED

NS- NUMBER SENTENCE . | |
A- ANSWER [

Mom bought 10 cranges. We ate Sof it. =ow many
oranges are keft?

A- WHAT IS ASKED?
G-WHAT ARE GIVEND
O- OPERATION TO BE USED
NS- NUMBER SENTINCE

A- ANSWER |:]

There are 12 apples an the table. Me and my fnencs ate 4 of
it. How many apples are left?

A- WHAT IS ASKIDTZ
G-WHAT ARE GIVFND
O- OPLRATION TO BE USED

NS- NUMBER SENTENCE »

A- ANSWIER I_:l




